Решение:
МР[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = ([image: http://vunivere.ru/workbase/00/04/23/65/images/image015.png]) / ([image: http://vunivere.ru/workbase/00/04/23/65/images/image016.png]) = (5-0) / (1-0)=5
МР[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = ([image: http://vunivere.ru/workbase/00/04/23/65/images/image015.png]) / ([image: http://vunivere.ru/workbase/00/04/23/65/images/image016.png])[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = (10-5) / (2-1)=5
МР[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = ([image: http://vunivere.ru/workbase/00/04/23/65/images/image015.png]) / ([image: http://vunivere.ru/workbase/00/04/23/65/images/image016.png]) = (14-10) / (3-2)=4
МР[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = ([image: http://vunivere.ru/workbase/00/04/23/65/images/image015.png]) / ([image: http://vunivere.ru/workbase/00/04/23/65/images/image016.png])[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = (17-14) /(4-3)=3
МР[image: http://vunivere.ru/workbase/00/04/23/65/images/image014.png] = ([image: http://vunivere.ru/workbase/00/04/23/65/images/image015.png]) / ([image: http://vunivere.ru/workbase/00/04/23/65/images/image016.png]) = (18-17) /(5-4)=1

MRP = Р*МР
1) MRP = 5*5 = 25 ден. ед.
2) MRP = 5*5 = 25 ден. ед.
3) MRP = 5*4 = 20 ден. ед.
4) MRP = 5*3 = 15 ден. ед
5) MRP = 5*1 = 5 ден. ед.
Ответ: денежное выражение (предельный доход) предельного продукта 5-й единицы ресурса составит 5 ден.ед.
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